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V = M4(1− cos(χ/f))
f = 1016GeV
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V = M4(cosh(χ/f)− 1)
f = 1016GeV

terça-feira, 30 de março de 2010



!!"

!!"
!!"

!!"

!!"
!!"

!! !!

!!

!!

!!

!!

!

!

!

!"!"

!"

!"

!"

!""

!""

!""

!""

!#
!"
$

"%""!
"%""!

"%""!

"%""!

"
%!

"%!

"%!"%!

"
%!

"%!

"%!

&'()*+)!

&'
(
)"
,

)

)

- $ . / 0 1 !" !! !2 !3 !-
!-

!-%$

!$

!$%$

!.

!.%$

!/

4
5&

6
(7

V = M4(cosh(χ/f)− 1)
f = 1016GeV

terça-feira, 30 de março de 2010



!!"

!!"
!!"

!!"

!!"
!!"

!! !!

!!

!!

!!

!!

!

!

!

!"!"

!"

!"

!"

!""

!""

!""

!""

!#
!"
$

"%""!
"%""!

"%""!

"%""!

"
%!

"%!

"%!"%!

"
%!

"%!

"%!

&'()*+)!

&'
(
)"
,

)

)

- $ . / 0 1 !" !! !2 !3 !-
!-

!-%$

!$

!$%$

!.

!.%$

!/

4
5&

6
(7

V = M4(cosh(χ/f)− 1)
f = 1016GeV

terça-feira, 30 de março de 2010


